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Nl gz
1z =
O 74 2 Hd T4 vl w=wsl
- 4 fi¥] : Ase =% STt (25%)
Pb & 107} d&FoA &5 4 (-5 ~ -48%)
- Ad w4 oiv] : As 5 9N FEFA w2 ST (39 ~ 121%)
Cd, Cue &% #4 (-14 ~ -33%)

O =AU 8 & ¥
- Y(Pb) 0.0117pe/m 2 3771 F(0.50g/ni)2] 2.33%
- H(Fe)2 0.5139ug/mt 2 127) =
- Fe(0.5139) > Ca(0.3895) »> Al(0.1357) > Mg(0.1144) > Mn(0.0364) > Pb(0.0117) >

Cu(0.0084) > Ni(0.003D) > Cr(0.0030) > As(0.0029) > Cd(0.0003) > Be(0.0000)

(SH g/ m*)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
ots 22 0.007410.0177 [ 0.0002 | 0.0014 | 0.0101 | 0.2806 | 0.0007 | 0.0963 | 0.0000 | 0.3177| 0.0037 | 0.1087
HAM 30 |0.0011(0.0127|0.0003|0.0034|0.0410|0.6608 | 0.0044|0.1347 | 0.0000|0.4816|0.0123|0.1399
=2 | 8¢ 22 0.0013|0.0093 {0.0003 | 0.0045|0.0336|0.5922 | 0.0053|0.1134 | 0.0000 | 0.4264 | 0.0115| 0.1135
Ot 22 0.00170.0071 [ 0.0002 | 0.0030| 0.0608 | 0.5221 | 0.0015| 0.1133 | 0.0000 | 0.3324 | 0.0060| 0.1809
o 24 0.002910.0117 [ 0.0003 | 0.0031|0.0364 | 0.5139| 0.0030| 0.1144 | 0.0000 | 0.3895 | 0.0084 | 0.1357
™ = 30 |0.0023(0.0135|0.0005|0.0057|0.0621{0.9140| 0.0050| 0.1207 | 0.0000 | 0.4450| 0.0124 | 0.2408
HA 58 17 0.0013|0.0089 [ 0.0004 | 0.002 |0.0165|0.3177| 0.002 | 0.0822|0.0000|0.2313|0.0098|0.0733
<
|':—|-_I|H| - 25% | -13% | -48% | -46% | -41% | -44% | -40% | -5% 0% -12% | -32% | -44%
=712
oo=E
%) | H
%H%J' - 120% | 31% | -33% | 55% | 121% | 62% 50% 39% 0% 68% | -14% | 85%
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( ZALE FE7E 3% )

- F(Pb) 0.0177pg/ml = A 7] F0.50g/n1) 8] 3.5% T

- Zg(Ca)e 03177/ 2 127 &5 5 M 5 v55 Yy

- AY O¥] : As, PhollA =% =7} (110 ~ 272%)
Cds 97 &0l v= i (=2% ~ 49%)
- A9 T4 O] As § 10&FAA w5 St (12 ~ 721%)

Cue & &4 (-21%)



(SH g/ m*)

T & PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

= ¥ 22 |0.0074|0.0177 | 0.0002 | 0.0014 | 0.0101 | 0.2806 | 0.0007 | 0.0963 | 0.0000 | 0.3177| 0.0037 | 0.1087
M 3 31 ]0.0020|0.0084 | 0.0004 | 0.0019 | 0.0165 | 0.5494 | 0.0013 | 0.0988 | 0.0000 | 0.3819| 0.0041 | 0.1396
HAsd 19 |0.0009 | 0.0049 | 0.0002 | 0.0011| 0.007 |0.1656 | 0.0005 | 0.0679 | 0.0000 | 0.1993 | 0.0047 | 0.0724
k|
T - 272% | 110% | -46% | -24% | -38% | -49% | -42% | -2% | 0.00 | -17% | -9% | -22%
=7t
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%) | ©4
=3 - 721% | 261% | 12% | 32% | 45% | 69% | 47% | 42% | 000 | 59% | -21% | 50%
CH|

O WAE FAL

O -

- J(Pb)& 0.0127pg/m =2 374 7] F0.5ue/nd)S] 2.5% =Y
- HFe)2 0.6008pg/mZ 127 &5 = 7 58 F55 e
- 14 o] . Ca, Mg &% <7} (11% ~ 19%)
As & 97N FEoA TE T4 (-9 ~ 55%)
(S pg/m*)
T PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 30 |0.0011{0.0127 |0.0003|0.0034|0.0410|0.6608 | 0.0044 | 0.1347|0.0000 | 0.4816| 0.0123 | 0.1399
- 32 |0.0024|0.0167 | 0.0007 | 0.0050 | 0.0528|0.9351|0.0061| 0.1134 | 0.0000 | 0.4337| 0.0160 | 0.1530
HEsE - - - - - - - - - - - - -
42
E_Hlj - -55% | -24% | -51% | -31% | -22% | -29% | -27% | 19% 0 1% | -23% | -9%
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(SH g/ m*)

T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

¥ 22 0.0013]0.0093 [ 0.0003 | 0.0045|0.0336(0.5922 | 0.0053|{0.1134|0.0000 | 0.4264 | 0.0115|0.1135
™ = 30 0.0025|0.0175(0.0006|0.0101]0.0574(1.1717|0.0113| 0.1322 | 0.0000 | 0.5429| 0.0211 | 0.1548
HEFE 14 0.0018|0.0128 | 0.0005 | 0.0029 | 0.0259 | 0.4697 | 0.0035| 0.0965 | 0.0000 | 0.2633|0.0149| 0.0742
2l
I':_H IT| - -49% | -47% | -49% | -56% | -41% | -49% | -53% | -14% | 0.00 21% | -45% | -27%
=719
O(Z?)g g
° =g - -28% | -28% | -41% | 54% 30% 26% 52% 18% 0.00 62% | -23% | 53%
chs|

O otF5 =%

- FPb)2 0 1.4% =39
- d(Fe)2 0.5221pg/m & 127H FE = 71 =2 52 e
- d4 oivl - Cr 35 71 (6%)

As & 107 F&FolA F&% H4 (-18 ~ -65%)

(SH g/ m*)

T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

= ¥ 22 10.0017]0.0071|0.0002 | 0.0030|0.0608 | 0.5221 | 0.0015 | 0.1133 | 0.0000 | 0.3324 | 0.0060 | 0.1809

(R 29 |0.0022]0.0113]0.0004 | 0.0060|0.1217{0.9999 | 0.0015 | 0.1383 | 0.0000 | 0.4215 | 0.0086 | 0.5158

2|
; - 37% | 9% | -30% | 22% 5% 7% | -11% | 1% 0% | 217% | 43% | 187%

(St ug/m*)
T = Pb cd Cr Cu Mn Fe Ni Al Ca Mg As Be
ALt 1 0.0135| 0.0005 | 0.0050 | 0.0124 | 0.0621 | 0.9140 | 0.0057 | 0.2408 | 0.4450 | 0.1207 | 0.0023 | 0.0000
g2 ELAF10.0174 | 0.0005 | 0.0086 | 0.0233 | 0.0605 | 1.0208 | 0.0065 | 0.2567 | 0.6081 | 0.1679 | 0.0072 | 0.0000

(22.11)
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0.0417 | 0.0019 | 0.0049 | 0.0230 | 0.0701 | 0.8991 | 0.0079 | 0.2522 | 0.6688 | 0.1740 | 0.0071 | 0.0000
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(EARLE B3
(¢9 : mm)
48 =
T = 7| %CH 1LX} | 22X} | 3K} | 42K} | 5K} ol A a
=T d+e
Stea NES 0.0 0.0 0.0 0.0 0.0 oY 0.0
HMES ¥ 0.0 0.0 0.0 0.0 0.0 0g 0.0
=2U45 HH 0.0 0.0 0.0 0.0 0.0 0g 0.0
oIF& A 0.0 0.0 0.0 0.0 0.0 0g 0.0
KSAHALE HA7|2
(481 : O
T = 1LX | 2¥XE | 3¥XF | 4¥XE | 5UX}E S | E Yo
Stea 1.8 18 47 4.5 6.0 1.8 6.0 3.8
HME 2.8 34 5.9 5.7 6.3 2.8 6.3 4.8
U5 24 2.8 5.3 5.6 6.5 24 6.5 45
OtF = 4.2 3.3 6.2 6.3 8.2 33 8.2 5.6
(EARALE £5)
(24 : %)
T = 1LX}E | 29X | 3¥UXF | 42X} | 5UKL P k| Y
Stea 324 52.7 55.3 65.1 63.6 324 65.1 53.8
SIS 20.3 38.7 486 52.1 53.8 20.3 53.8 427
SUE 204 384 496 499 51.0 20.4 51.0 419
OtF & 20.7 441 50.7 50.2 52.1 20.7 52.1 436
(EAHLE F5D
(&4 : m/s)
T 1L Xt 22U X} 32X} 4L Xt 5 X} ES P | E | oz
Stea 1.6 1.5 1.4 1.3 1.3 13 16 14
HM S 0.7 0.6 0.7 0.6 0.9 0.6 0.9 0.7
S4E 0.6 0.6 0.7 0.5 0.8 0.5 0.8 0.6
OtF & 04 0.4 0.5 0.3 0.5 0.3 0.5 0.4
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